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PeriodicExecutionContext::deactivate_component(LightweightRTObject_ptr comp) O O O

it->_sm.m_sm.goTo(INACTIVE_STATE);

OOOOINACTIVE_STATED O DOOODOOOO0DDOOOO0DOOO00DODOO000O0000000000O0000O000OINACTIVEDOODOOODOO
ooooooooon
gooboooood

---0 PeriodicExecutionContext.cppd O O O (revision 2191)
+++[] PeriodicExecutionContext.cppl O O O (working( copy)
@@0 -374,140 +374,350 @@

00000 Compltrd it;

0000 0it0 =0 std:find_if(m_comps.begin(),C0 m_comps.end(),
000000000000 00Ofind_comp(comp));
-0000i0fd (itd ==0 m_comps.end())

-00000O0returnd RTC:BAD_PARAMETER,;

-0ooo

+0 0 0 Oif0 (itd ==0 m_comps.end()) {d returnd RTC::BAD_PARAMETER; }
000000 ((it->_sm.m_sm.isIn(ACTIVE_STATE)))

-00 0000 returnd RTC::PRECONDITION_NOT_MET;
+000000¢

+00000000r returnd RTC:PRECONDITION_NOT_MET;
+000o0og}

00000it->_smm_sm.goTo(INACTIVE_STATE);

-00 00O returnd RTC::RTC_OK;

+0 0 O O intd count(0);

+0 0 O O constl doubled usec_per_sec(1.0e6);

+0 0 O O doubleld sleeptime(10.00) *[0 usec_per_secl] /01 get_rate());
+0 0 O O RTC_PARANOID(("Sleep timel isO %fO [us]",O sleeptime));
+0 0 O O whileO (it->_sm.m_sm.isIn(ACTIVE_STATE))
+000000({

+0 00 0000 0RTC_TRACE(("WaitingO tol bel the[l INACTIVED state"));
+0 000000 O coil:usleep(sleeptime);

+00000000i0f0 (countd >0 1000)

+0000000000¢
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+000000000000RTC_ERROR(("Thel componentU ist notl responding."));
+000000000000break;

+00000000o0}

+0 0000000 ++count;

+000000}

+0 00 Oif0 (it->_sm.m_sm.isIn(INACTIVE_STATE))

+000000({

+00000000RTC_TRACE(("TheD componentl] has[ been properly deactivated."));
+00000000RTC:RTC_OK;

+000000}

+0 0 0 O RTC_ERROR(("The component couldd not(] be[] deactivated."));

+0 0 O O returnd RTC::RTC_ERROR;

O #elseO //0 ORB_IS_RTORB

00000 ford (intd i(0);0i0 <O (int)m_comps.size();0 ++i)

ooooooof

@@0 -392,70 +413,290 @@

000000000000 00000O0r returnd RTC:PRECONDITION_NOT_MET;
oooooooooooooood

0000000000000 m_comps.at(i)._sm.m_sm.goTo(INACTIVE_STATE);
-000000000000 returnd RTC:RTC_OK;
+000000000004dint0Ocount(0);

+000000000000constd doubled usec_per_sec(1.0e6);

+0 0000000000 0doubled sleeptime(10.00 *0 usec_per_secl /0 get_rate());
+000000000000RTC_PARANOID(("SleepO timel isO %f0I [us]",O sleeptime));
+000000000000whileD (m_comps.at(i)._sm.m_sm.isIn(ACTIVE_STATE))
+00000000000000¢
+000000000000000O0RTC_TRACE(("Waitingd tol bed thed INACTIVED state"));
+000000000000D0O0O0OUOcoail:usleep(sleeptime);
+0000000000000000
+0000000000000000i0O (countd >0 1000)
+000000000000000000O¢
+0000000000000000000O0ORTC_ERROR(("TheD component istd notd responding."));
+00000000000000000000O0 break;
+0000000000000O0000OO}

+0000000000000000 ++count;

+000000000O0o0oooo}

+0 000000000000 (m_comps.at(i)._sm.m_sm.isIn(INACTIVE_STATE))
+00000000000000¢
+0000000000000000RTC_TRACE(("The component hasll been properly[] deactivated."));
+000000000000000ORTC:RTC_OK;

+000000000000oOO}

+000000000000RTC_ERROR(("Thed component couldd notO bel] deactivated."));
+000000000000r returnd RTC:RTC_ERROR,;

o0ooooooooood

oooooood

00000 returnd RTC::BAD_PARAMETER,;
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